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1'=1 mod9
1 est d’ordre 1.

2! =2#1 mod 9

22=4#1 mod 9

22=8z£1 mod 9

22=16=7#1 mod 9
20=21.2=7.2=14=5#%#1 mod 9
20=2.2=5.2=10=1 mod 9

2 est d’ordre 6.

3 n’est pas une unité, car pged(3,9) = 3 # 1.

4'=4%#1 mod9
42=16=7%#1 mod 9
$3=42.4=7-4=28=1 mod 9
4 est d’ordre 3.

5!'=5%#1 mod 9

52=25=7#1 mod 9

5 =52.5=7-5=35=8%1 mod 9
5*=53.5=8.-5=40=4#1 mod 9
5 =5.5=4-5=20=2#1 mod 9
50=5".5=2.-5=10=1 mod 9

5 est d’ordre 6.

6 n’est pas une unité, car pged(6,9) = 3 # 1.

T'=7#1 mod9
7?=49=4#1 mod 9
T=7.7=4-7=28=1 mod 9
7 est d’ordre 3.

8! =8#1 mod 9
82=64=1 mod 9
8 est d’ordre 2.
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